IT Unit 1, 2007 

Multiple Choice

Question 1

Not paying attention to the characteristics of your audience could lead to a publication that is 

A. Inefficient

B. Biased

C. Irrelevant

D. Unvalidated

Question 2

A website gives weather information from around the world.  The purpose of its information is to:

A. Persuade

B. Inform

C. Educate

D. Entertain 

Question 3
A slideshow presentation’s slide have brown text in size 12 font on a dark green background, and there are many spelling errors.  The slideshow’s quality is suffering in terms of

A. Readability and relevance

B. Suitability and accuracy

C. Reliability and relevance

D. Readability and accuracy

Question 4
If you listed the first letters of the steps of the problem solving methodology in order, they might look like

A. ADDTIE

B. IVPSROCD

C. DADSTIE
D. VIPCODS
Question 5

Which combination of product and design tool is not appropriate?

A. Spreadsheet + IPO chart

B. Project Timeline + Gantt chart
C. Slideshow + Flowchart

D. Software interface + Mockup 
Question 6
A design element that is more important in an on-screen information product and less important in paper-based information is

A. Contrast between foreground and background colours
B. Choices of typeface, font size and style

C. File formats of graphics

D. Hierarchy of topics

Question 7

An important characteristic of high-quality user interfaces is

A. Small file size

B. Maximum amount of text per screen

C. Consistency of formatting

D. Detailed analysis of the problem to be solved.
Question 8

The difference between formats and conventions is

A. There is no difference; they are the same thing

B. Formats apply to conventions; not vice versa

C. Formats are mandatory; but conventions are optional

D. Conventions apply to formats; not vice versa

Question 9

Data manipulation techniques do not include

A. Sorting

B. Summarising

C. Converting to another format

D. Printing
Question 10

A black and white graph needs to be inserted into a webpage.  The best choices of file format would be

A. BMP or TIFF

B. GIF or PNG

C. JPG or SWF

D. PDF or PSD

Question 11

In a large website, a suitable organisation of folders recording the organisation’s history of annual events might be:
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Question 12

A webmaster would transmit files to a webserver using 

A. FTP

B. Email

C. SSL

D. PGP

Question 13

A criterion to evaluate the effectiveness of an on-screen information product is:

A. Number of errors

B. Speed of loading

C. Cost of production

D. Whether it uses primary or secondary sources of information

Question 14

Using ICT in the workplace can lead to

A. Decreased efficiency and increased effectiveness

B. Increased efficiency and increased effectiveness

C. Increased morale and decreased strategic planning

D. Improved decision-making and reduced turnover
Question 15
Key roles of databases include
A. Searching and reporting on data

B. Calculating and validating data

C. Searching for and reporting on relationships between data items

D. Calculating formulas and doing “what if…?” scenarios

Question 16
Which of these reflects the structure of a database?

A. Databases contain tables which contain records which contain fields
B. Databases contain tables which contain reports which contain fields

C. Databases contain queries which contain fields.

D. Databases contain data in either records or tables, depending on the design.
Question 17

The types of data in a database would be best summarised with

A. An IPO chart

B. A Nassi-Shneiderman chart

C. A hierarchy chart 

D. A data dictionary 
Question 18

Important social issues relating to ICT would not include 

A. Changing work roles 

B. Globalisation

C. Technological incompatibility
D. The digital divide

Question 19

Which ICT jargon terms are relevant to each type of hardware device?
	
	Input device
	Storage device
	Output device

	A
	Touchpad
	Ethernet
	RAID

	B
	Bar code reader
	Flash RAM
	TFT

	C
	Voice Synthesiser
	DVD+RW
	LCD

	D
	QWERTY
	BIOS
	Toner


Question 20
Primary data is different to secondary data mainly because primary data is
A. Easier to acquire

B. Acquired personally by the person who will use it 

C. More reliable because it has been validated
D. Processed

Multiple Choice Answers
	Question
	Answer

	1
	C

	2
	B

	3
	D

	4
	A

	5
	C

	6
	C

	7
	C

	8
	D

	9
	D

	10
	B

	11
	C

	12
	A

	13
	A

	14
	B

	15
	A

	16
	A

	17
	D

	18
	C

	19
	B

	20
	B
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